RAHMADERBEREFRKRBERIRE -

& 2

AR X (FR28EE)

RIRIEES (N) &
FERIX 5t 2,383,139 69. 0%
mETH & 1,068, 279 31. 0%
BIRARET 3,451,418 100. 0%
AKX A BLEEA (HERER (N DiLIERES BLERE A [HERER (N)
FRERX 11, 611 JINEFH 2AK 150, 289
FRX 30, 846 szl 2AR 45, 502
BEBRX 61,954 HEH™H 2A=R 33, 149
FEX 103, 782 = 2A=RK 43,728
XEX 47,022 Eigh 2AR 37, 442
BERRX 57, 746 FEspH 2A=RK 60, 415
SHARKX 68, 582 RBE™ 2AR 29, 713
IERR 118, 380 A 2A=RK 53, 504
X 88, 767 BTHET™ 3AR 108, 165
BERX 67,7771 E&HH 3ARK 26, 226
AXEEX 167,197 INET 2AR 44, 830
HAAK 2A=K 214, 371 S 3ARK 42, 443
EARX 62,878 E#fILT 3AR 38, 703
hEFX 90,063 E#nF™m 2A=RK 26, 765
il X 140, 902 E3jivays) 2AR 18,611
2EX 85,978 AT 2A=RK 18, 404
P[A=3 93, 351 I 4 A= 20, 114
EINX 61,045 BAH™m 2A=R 22, 751
RIEX 143,733 =¥ il 4 A= 19, 758
HEX 173,818 EABEXH 3ARK 31,059
BiIX 196,980 EEHtLH 4 A= 21,949
B 122,813 ZE™ 2A=RK 39, 298
IRIX 173, 543 Ry 2AR 19, 566
I X ET 2,383,139 Prth 25 15, 065
HEHHH 4 A=K 23,084
BEERRERT 3A 48, 776
BER AR | Bat | HERER(N) | HRERELES InfEHT 2A=R 10, 778
2AK 43 3,060, 546 88. 7% H o HET 2AK 5121
3AK 6 295, 372 8. 6% IR 2A=R 784
45 13 95, 500 2. 8% B 2 ERET 2AK 1,642
it 62 3,451,418 100. 0% KEHT 4 A=K 3,058
FEH 4 A= 107
HER 4 A=K 1,102
HEER 4 A= 919
==H 4 5= 892
HE S 4 A=K 109
J\3CHT 4 A= 3, 256
A= 4 A=K 55
INERAY 4 A= 1,097
TET#T 5T 1,068, 279




